R IRE

BESH
NEAETE
KM E

= TNy

o YR

RATESEM

PRIE KA R
BRE AR R
RFERXRGEEER
BEERRGEBIR
BHESRRNRERY
MTTFd/MTBF
e E

RRH

T A B RIRFE (typ.) RIBERK
T AR B RIRFE (typ.) BEERX

s/ B AR
MR ABRAR

R R M R RS
BASE (s =R L)
BEREGBRBE

TR

BAEETTR(s =R 84k)
BREKBBEITR

PR ES B
AT E
B &

ERERHFERNR AR HIE

RABEERE

RN Fw s

B K So VF Bl [0 B S
B A 0 VR 4R [0 il T R
THEMEFRE

IEC 68—2—65‘&73](Amax =0.75mm, f=5... 2000 Hz)

IEC 68-2-27)F T

SRRy

EN 55022 class B, Emission radiated (30... 230 MHz)
EN 55022 class B, Emission radiated (230... 1000MHz)
EN 61000-4-2, ESD (contact discharge / air discharge)

EN 67000-4-3, Immission HF radiated (80... 1000 MHz)

EN 61000-4-4, Burst (on all lines)

EN 61000-4-5, Surge (lines to ground)

EN 61000-4-6, Immission HF conducted (0. 15...80MHz)
EN 61000-4-8, Immission magnetic field (50Hz)

IEC 60393-1 Insulation resistance (500VDC, 1bar, 2s)
IEC 60393-1 Dielectric strength (VAC, 50Hz, 1min, 1bar)

H35:021-5419 1392 4f1:173 1638 6953

AW |

-

ERAR (B FRAF

o

% of meas. range
bit

kHz
kHz

LS

LS
ppm/K
years
VvDC
mA

mA
kOhm
nF

mm?

mm?

Ncm

om
movements
N

N

°c

g

g

aBuV/m)
aBuv/m)
KV

V/im

144

144

Vemk
A/m
GOhm
KV

MH-C

0... 360
+0.3

0.7

12

0.7

%)

1.66

(800)

4600

700

185/ 185

76 ... 35

(19)

4

0..05

700

yes

Cable 3pole, s
0.25 (AWG24)
no

360 (continuous)
IP54 / IP67
05/3

6000

360 Mio.

7100

50

-40 ... +85

20

50

max. 30
max. 37
+4/+8
30

EY

+7

30
20

MH-C2

0... 360

0.7

0.1

4

o1

)

05

(800)

2500

700

1477 147

76 ... 35

(20)

15

0..05

700

yes

Cable 3pole, s
0.25 (AWG24)
no

360 (continuous)
IP54 / IP67
05/3

6000

360 Mio.

100

50

-40 ... +85

20

50

max. 30
max. 37
+4 /48
30
£
+]
70
30
20

Vert-X 22 - 24V [ 4 - 20mA

BRI A

R R

Ik

F1ZRE #1587

FRESEN

o Fi% i, FEMHN
JeEm=N B S %
BREWHED
SREENE
EETAHRERNA
(RE, BN, b,
%)
BREESAETENSIHE
MEH

4% =2 MH-C

%ME+0.3%

72 PEE12bit

b MH-C2EEE

4 mMH-C2

HMEX0.1%

2P E14bit

KRB,

FER A B A E IR E/ M RE
(i)

TEEH

t

CONIELEC

A company of the Siedle-Group

W%k - www. tifu-auto.com  Hi§4f:info@imcortech.cn



AW |

RREEFEAR (LB FRAF

WA

E@BECW

PR

EMA#ECCWH %2

TR, EMBHECWHES

TR, EME#ECCWH %4
TRRRESHLTILS

E BB ECW 188 FF 55 ) AT A
EmBECCW 1B FF < i AT EB
IE [ B EECW #5288 FF X i A& C
IF [ 4 B CCWH28& FF 3¢ i A& D
HE #% 75 18 AT iR E AT E
ERMBER T E WIRE AR

R HESE 5 B AR E A£G

MR IR R R SRR B 5 18 AT AR E W 4w AR W H
Vert-X EasyAdapta P

BWHES
4mA ... 20mAFR #5

e Bk
24VDCHR 1

Vert-X 2 2 0 1 7 8 6 1 5 1

BREA
3647 /S 360°

QLB HREB I A

LR RE
7MH-C
8MH-C2

U4 M AR AR

220 1#R A IR Y R % M10x0,75 ; 6 mm # D-shape ; IP54
220247 HIRG R % M10x0,75 ;3,175 mm H ##8% ; IP54
2211¥R A IR R % size 9 ; 6 mm % D-shape ; IP54
22124R R IR R %% size 9; 3,175 mm Hh # 1% ; IP54
223 1FR A IR R % M10x0,75 ; 6 mm # D-shape ; IP67
2232FF IR L% M10x0,75; 3,175 mm Hi # &% ; IP67
224 1¥R A PR B % size 9 ; 6 mm % D-shape ; IP67
22424R R IR R %% size 9; 3,175 mm Hh H i 5 ; IP67

xxA[1£03 to 35; Declaration in 10° steps

B

AR AEE B4 3pole
67 3% [B f s 46 pole
O 3k 4 Tk BB 4K

BYKE

0247 #1.0m
067 i£3.0m
10 3%5.0m

2299RE A BRIN T 45 R

MH-C MH-C2
iT #l 8 IR 1t X X
TSR X X
T &% X X
TR SRR X X
FFRIhEE TTL (max. 2) X X
RS L - X
HHKREBESEA TE 30°t0 360° (FHI) X X
HREATRE (R4 - X
BESNLSTIRE FNESH) X
HE¥E 75 mICW/CCW RIZTE / Al 42 (BN &L R EXHF) - X

- X

R RARE JRE FNKH KRN

H35:021-5419 1392 4FT1:173 1638 6953

Vert-X 22 - 24V / 4 - 20mA
Ordering code

* Switch outputs
Please define number

(max. 127), position and width
of the pulses.

TE(RERSER)

CONIELEC

A company of the Siedle-Group

W%k - wwwe. tifu-auto.com  iFf:info@imcortech.cn



A

REBEEAR (L) FRAF

Vert-X 2201 / Vert-X 2231
B4 (incl.)
1x ¥ M10x0.75/SW13
- (700 - Ix BB ERE
17,7, 387 R
[ - :.-: e I
- 5Pk w2,
0
K cE O o
c._* _..[".I il y o __Bb l]f;.‘.
= = L
) 1= '
¥
J
i [}
1 R -
= . Py [
[,
Vert-X 2202 / Vert-X 2232
B4 (incl.)
1x $8 & M10x0.75/SW13
—— - Ix WEBERE
H o
] L
=
I
4
0, 8

H35:021-5419 1392  4pT.:173 1638 6953  Muk:www.tifu-auto.com  H4:info@imcortech.cn



AW |

RRELHEAR (L) FRAF

Vert-X 2211 / Vert-X 2241

B4 (incl.)
1Ix BERXRF
2x g &
124 M3x8
e ™ TN .
CERE " @ 27,

A7 an .

Ll

]

Vert-X 2212 / Vert-X 2242

B4 (incl.)
1x BEXF
2x R &
1244 M3x8

CONIELEC

H35:021-5419 1392  4pT.:173 1638 6953  Muk:www.tifu-auto.com H4:info@imcortech.cn




REBEEAR (L) FRAF

Vert-X 2211 / Vert-X 2212
Vert-X 2241 / Vert-X 2242
B

B E R F

CONIELEC

H35:021-5419 1392  45T.:173 1638 6953  Muk:www.tifu-auto.com  H4:info@imcortech.cn



	页 1
	页 2
	页 3
	页 4
	页 5



